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. . The most frequently occurring observation in a data
Mode Mean Harmonic mean Median set is called:
i ] P g | el Ofe gL X 25| 2
. Sum of deviations of the variable X from its mean is
Different Same Zero One always:
30° 135° 150° 115° %radians: 3
15 263 s i P ‘- bt .L..Jf;—j:fl{-d.— Hl 4
. . . A chord passing through the center of acircle is
Secant Circumference Radius Diameter called:
tangent ¥o_ 7 | secant b7 | cosine ¥ 7b | sine b b e bt S L AL B S| 5
Tangent of a Secant of a Cosine of a . . A line which has only ongjpoint in common with a
circle circle circle Sine of acircle |circle is called: B
, : e b s @8k K 60° 1S3l 4Ll 6
1 2 4 ; 3 A 4cm longchord Subtends a central angle of 60°.
) > i The radial segment of this circle is:
n 3 k3 _’139 < lm,::'}.w“; b thoid| 7
6 2 4 3R

Angle insefibed in a semi-circle is:

b, :4.:‘):&{0:21}-‘. ax?+bx+c=0 ehlba@lednn| 8

4 3 2 147, )% | The number of terms in a standard quadratic equation
L4 ax? +bx +c =0 is: i
. et
3 -1 1 0 i :q..nf- K-—r—"dijéitjlﬂ 9
Sum of cube roots of unity is: |
1 1 . 2 .p2
2 3, 0 -, 8 ezl o+
a+B)° -2a a’ - + a+p ; 10
_( P) B i P Nk a2 + B2 is equal to:
_X . % L 3 . 11
¥ =x? y =k 3 =3 |ifY FF then: Y €3
5 12 4 3 _ :‘;{{'qu:al:x::s:ls..,«h‘-‘ 12
4 3 4 Find x in proportion 4 : x: : 51 15
3
i e : : x°+1
ﬁruya-' “L"U /.z.?.ls /.'_.zf.!/f c‘_‘_gm 13
3
Constant term Identity Proper fraction | Improper fraction a——% is alan:
g 2l o Lrdb :4_r1hfmu5$f K el 14
Super set Singleton set Subset Empty set A set with no element is called:
Uil s AXB i 405 B eral 3 ASSEILA el 15
7 12 4 3 If number of elements in set A is 3 and Zq_dmlp?J -|
in set B is 4, The number of elements in A xB is:
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Find the nature of the roots of the equation: 3x2 + 7x — 13=0
Write the quadratic equation having roots: ~1, ~7

Evaluate: o Byg17

If 3(dx —5y) =25 - 7y then find the ratiox : y

Find fourth proportional to: p*+q3, p2_ 2 p?-pq+q?
Define direct variation,

Write short answers to any SIX parts.

Define proper fraction,

3 2
. X=X x-]
Resolve the fraction
X“+5

X={1,4,7,9 andy=2,4, 5, 9} then find XNy

into proper fraction,

IfA-'=NandB=W,thenﬁndthevalueof B-A .
fX=¢, Y=z* then fing XUY,
H‘A={a,b} andB={c,d},thenﬁnd BxA

Find arithmetic mean by direct method for the set of data:
200, 225 , 350 , 375

Define range,
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'-_1__+-£—i7=3 @ 2P G
W+ 7x-13=0 E B AL e @iv)
=<1, =7 :a%r,p&m,dudjané.: )
S i)

_g{rsfv Xy e’ 3(dx - sy) 4 xR 7y N (vii)

4-32x = 1752

L 1
5x2 =7x4 9

............ s (o=stz . ) .
= pe
f/—,).,&_,,/ (dt‘»’W)(wl" U‘a L
60 A F 550,
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Write short answers to any SIX parts,
Solve by factorization: 4-32x =17x2
Solve the equation: 5xJ2' = 7ng - )
Write in standard form: xi4 +;£T =3 vy

3
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P+e®, p2-q?, p2 ~pq+q? By (vii)
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x%+5

-SEeMHX W v = (2.4,5,9) s X=(1,4,7,0 11 (iii)

__érﬂyc‘é'JB-A;er=Wu!A=Nﬂ (iv)
- XUY Jy =zt X=0/ (v
-Er By A IB={c,dj AA=fa,0) /1 (i)

:g{r)”qu{;&fr:,’é/ww (vii)
» 270, 320 , 290

-F e (viii)

S - 1943129252703 ‘,r:urf)’(};lﬁd'ﬁw.géms Lhal iy
The sugar contentsdgr ajfandeni' sample of 6 Packs of juices of a certain brand are found to be 23,27,25,29,3.1

and 1.9. Find the median,
Write short answers to any SIX parts.

Convert -3;:5 into degree,

Findr, when £=4cm , ¢ =%radians

Define radian.

Verify the identities: (1 sin 6)(1 +sin 6) = cos2g
Define acute angle.
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£=4cm, 0=

(1-sin 6)(1 +sin 0) = cos?p
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Define length of a tangent. _g‘,-: -3 /""JJUJJ v _ (vi)
Define circumference of a circle. -g‘,{ - /""L;Lg‘ﬁa}b (vii)
Define circumscribed circle. h.g.‘,:(‘..é,’ /"'.L;fl:a/"b' (viii)
Construct a circle of radius 2cm. Ll 62U (%)
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Part - I, Attempt any THREE questions. Each question carries 08 marks. Question Nof9is compulsory.

Solve the equation:  2x+5=~7x+16 2x+5=Tx+160 & FHleil. ()
Prove that: x°—y3 = (X —y)(X - 0y)(x - 6%y) X -y = (x - y)(X - dY)(x= 0°Y) ek ()
Find x in the proportion: 8—x:11-x::16-x:25-X ér:l”':J:J X Ut (LD
: — 7x+4 X +4 . 2 o )
Resolve into partial fractions Grr 217 )k 1) g‘: L}’V s 2 i)

(AUBY=ANB' fzf=st7 B={1,4,7, 10} A="13,5,7,9} < U={1,2,3.4, ..., 1031 ()
IfU=(1,2,3,4, ..., 10}, A={1,3,5,7,95B= {1,4, 7, 10} then verify that (AUB) =A'NB’
Nt obe F st Pet Sl kb 6 (L)

The marks of 6 students in Mathemiatics aré as follow. Determine variance.

f‘ b 1 2 3 4 5 6
Students
% 60 70 30 ) 80 y)
Marks
Prove that: (cot  + cosecB)(tan 6 —sin 8) = sec6 - cos 6 S et ()

'uﬂf“4 ,glfs :(6 *-.-:.:ﬂl.-l.)gud/ (_:X Vil ﬁ S_A_B CM'LJL&Q%-'?JJ/'I}G/VK ABC&-#C.“ (!1/)
Cirodffnsctibéa circle about a triangle ABC with sides | AB|= 6cm»> |BC|=3cm» [CA|= dcm
-q.cﬁxﬁ?bd‘bgd/‘):f‘_gd/a-bﬁ}ub/;&&fé‘fmb‘
Prove that one and only one circle can pass through three non-collinear points.
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Prove that any two angles in the same segment of a circle are equal.
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